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CHEM 261

Oct. 30, 2017
Review
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Example 3
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Mechanism
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Bromohydrln
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- between different molecules = intermolecular reaction
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Example 6
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- within one molecule = intramolecular reaction

- the reaction for 5-membered ring is faster (~10, 000x faster) than a
6-membered ring

General scheme
ADDITION OF HX ,X=ClI, Br, |
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X~ Usually syn addition
Example 7
H
| ",,/—"“‘-\\\\ ° c
HCI C® c
- | e
[
H



113

Example 8

5°
HBr r

Br

— >

the least substituted carbon a tertiary carbocation
in the C=C will be attacked, (more stable)
SO one can create a

tertiary carbocation

alternative
is not
favoured

a secondary carbocation, not as stable
this is not formed (not favored)

Example 9
Addition of H,O and ROH

\C_C/ e
/ = No Reaction
ROH
Catalyst Needed
moe L L
\ / o | | To avoid side reactions, H,SO, is commonly used
c—( H OH
/N :
o +
FHOIF b | H-0-S—0-H
» —C—C— 1]
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HO oy

H-OH

—S—0—-H methylcyclohexanol

The above reaction is the synthesis of alcohol,
The reverse is an Elimination (of water) for the synthesis of alkene
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ethanol



